Exam II; F5360; Fall, 2002




Name ______________________________

Short answer questions/problems

1.  If you were to buy a Treasury strip that matures a year from today, you would earn a nominal rate of 1.25%.  If inflation is expected to be 1.1% over the next year, what is the expected real return on the Treasury strip?
2.  Why is it difficult to estimate the term structure using U.S. Treasury bonds that pay coupons?

3.  You have just sold some puts on Intel that has an exercise price of $20 and which expires in January, 2003.  What implications does this have for you after you sell the puts?
4.  Assume that in order to stimulate the economy, the Federal Reserve decides to cut interest rates.  How will this action by the Fed affect the value of any calls that you own?

5.  Why can’t a call ever have a negative value, even in theory?
6.  Assume you own stock in IBM and you buy a put with an exercise price of $85 that expires in January.  Sketch a graph of your payoff when the put expires in January as a function of the stock price.  Note:  Sketch the payoff on a per share basis.
7.  What drives differences in attitudes between managers and stockholders regarding company specific risk?
8.  Briefly list (but do not discuss) the factors that lead to bondholders losing when a firm pays a dividend.
9.  Under what conditions could an EVA bonus be negative?
10.  List (but do not discuss) two things bondholders can do to protect themselves against agency conflicts with the firm’s stockholders.
Problems/Essays

1.  As of Thursday, October 24th, the yield to maturity on Treasury Strips varied by maturity as follows:  1-year = 1.26%; 2-year = 2.18%; 3-year = 2.29%; 4-year = 2.86%.  These interest rates imply certain things about the market’s expectations regarding what will happen to short-term (1-year) interest rates in the future.  Without doing any calculations (feel free to do some but they are not necessary), discuss how the implications of these rates differ (regarding the market’s expectations regarding future short-term rates) or are the same according to the Expectations Hypothesis and Liquidity Preference Theory and discuss the underlying source of these differences (if there are differences).
2.  Assume two firms are identical except that one firm has debt in its capital structure while the other is funded entirely with equity.  How might the difference in the firms’ capital structure lead to a difference today in the capital budgeting decisions made by these two firms?  What might the firm with debt in its capital structure have done when the debt was first issued to reduce these differences that exist today in the capital budgeting decisions?
3.  Mystol-Bryers Inc. has decided to invest in a new facility which will cost $100 million to build (assume that Mystol-Bryers pays the entire cost today) and which has an expected net present value of $19 million.  The expected life of the project is 10 years.  The beta of this facility is 0.9 and the standard deviation of returns on the facility is 46%.  Prior to this investment, the firm’s existing assets have a market value of $2 billion.  The beta of Mystol-Bryer’s existing assets is 0.95 and the standard deviation of Mystol-Bryer’s existing assets is 48%.  Once the new facility is in place, the beta of the firm (including the new facility) will equal 0.947 and the standard deviation of returns on the firm (including the new facility) will equal 47.1%.  The firm currently has outstanding debt (which pays no coupon interest) that matures four years from today for $1.8 billion.  The current market value of this debt is $1,122,971,000.  In order to fund the project, the firm plans to use $60 million of cash, to issue new debt that will mature four years from today for $50 million, and by issuing common stock (if needed).  The standard deviation of returns on the firm’s outstanding stock is 59% and on the firm’s outstanding bonds is 23%.  Assume also that the APR (assuming continuous compounding on Treasury Strips) depends on the maturity of the strip as follows:  1-year = 1.25%; 2-year = 2.16%; 3-year = 2.26%; 4-year = 2.82%; 5-year = 3.02%; 10-year = 4.44%.  How will these funding and investment decisions impact the wealth of the firm’s existing stockholders and bondholders?
